ST UD Y CENTIRE
PROFIT & LOSS ASSIGNMENT

A store purchased pens at ¥216 per dozen. He paid ¥ 58 for conveyance
and sold the pens at the discount of ¥ 2 per pen and made a overall profit
of ¥50. Find the M.P. of each pen.

@ alBuemer Beneouwlld @ LT Cuemdbsamer I216 &@ eaummiduwigl. Goed
Flovevemy OFevaurad I58 GFeve| GFuIsE e @ GuemaiBg I2 GomBsHal

alpuemer GFuisdHed Beorud I50 B Saa eafled @b Guemmalasr GHBHS
allemey 6161666 ?
a. Rs.36 b. Rs.30 c. Rs.32 d. Rs.29

A man bought an old bicycle for ¥1,250. He spent ¥ 250 on its repairs. He
then sold it for ¥1400. find his gain or loss %

@ BUT @ umpw WHeuewigenuws I 1,250 &g eummidenT. SiGHmer
gMiupsHs I250 OFeve CQauinTr. et DiHmer I 1400 5@ oIBBrT. ojeufes
BOTUSHMSD DIGV6VHI BL L HEWHEH FHT60Ib.

a. 6.67% loss b. 66.7% loss  c. 5% loss d. 6.67% gain

A shop keeper purchased 100 ball pens for ¥250. He sold each pen for ¥ 4.
Find the profit percent.

o sLsaMT 100 Guemmésamenr I250 6@ ammigdmrT. om Guem I4és
AIBSIBTT. DT FHATHHMHH HTCWISH.
a. 40% b. 50% c. 25% d. 60%

A Vegetable vendor bought 40 kg of onions for ¥360. He sold 36 kg at ¥11
per kg. The rest were sold at ¥4.50 per kg as they were not very good. Find
his profit/loss percent.

o smuisn alwrurf 4088m GeumisTudbamsd I 3605G aIThRIGEMBTT. D6l
m HCur I 11 eaam alemevda 36 SHCemenan IBABIT. BH(LeiTETAIBENM
@ HBeom ¥4.50 e1aiiB alewevdd AIBBIT. DUHDHSG HmLHH Beomu / BLL
FHAHHMBDH HTCWIH.

a. 15% loss b. 15% profit c.25% profit  d.25% loss
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If the selling price of a LED TV is equal to %of its cost price, then find the

gain / profit percentage.
@ o0 B9 (LED) Ogremevdst fulsr ealBumer oalmed OIS SiL&Hs

allemevenwill GuTeT ) %LDI_FE;J@ 6leNe0, BeVTUF FHAIHID HT6WIH.

a. 15% b. 10% c. 20% d. 25%

By selling a bicycle for 4275, a shopkeeper loses 5%. For how much
should he sell it to have a profit of 5%?

QM BMLGHHTT Heuawigemuwl I 4275 BdE alBUBT SIHEBEG D% HLULLD
JBUGAMH. DlUHBG D% Beorud Hemldd GeuemtBON6L, LOdealemsTigemul
oleotedl  @llemevdh@ alms Geuemihd?

a. Rs.4500 b. Rs.4725 c. Rs.5000 d. Rs.5225

The cost price of 16 boxes of strawberries is equal to the selling price of 20
boxes of strawberries. Find the gain or loss percentage.

16 el gr@ufl  (Strawberry) OQuiyseflenr o ss almeowrengs 20 6ol gL
QUL sl alBumer alenedh@&HF &I 6leNe0, @euTLD (&) BLLEF FHAiFHLD
BTG S.

a. 20% loss b. 20% Gain c. 10% gain d. 10%
loss

The marked price of an LED tube light is 550 and the shopkeeper offers a
discount of 8% on it. Find the selling price of the LED tube light.
@1 e60.@.9. (LED) @we alensdlear @pBisds eolmeo I 550. senL byt

SFEBE& 8% HeTEHLY MPHIGEADBIT. aaled, b 6160.69. Ged aleTdaea
alBuUmeT allenevenUIsH BHTETS.

a. Rs.504 b. Rs.508 c. Rs.516 d. Rs.506

A trader sells an article and loses 12%%. The ratio of cost price to the
selling price is
QM  AUTHSHHT CUTHGeTTEmB  alByI 12%% BpsHPIT. o 6end  allen6y

LB@ID aBUMET aleM6e0HHTI, AIBHHID HT6wIH.

a.7:8 b.9:8 c.8:7 d.8:9

A person buys an article for p and sells it for q there by gaining r%. The
selling price in terms of cost price may be written as
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@@ BUT P &G @ Ourmemen euthid q && aIBHBIT. @6 cpeod 1%
euTLILD OUBIFBTT. 2 ewiend allewevenw! GUTBISHH alBLID6T AllenevenU! 6T6ITN)
61(LDSHGVITLD.
a. pr b. r(L00+ p) c. p(100+r) d. p(100-r)

100 100 100 100

A shopkeeper sells one transistor for ¥840 at a gain of 20% and another for
Y960 at a loss of 4%. His total gain or loss percent is

R  BOLGEMT @ gyiaidFeoLeny I 840 Hg 20%  eorusHeid,
BOpTeeny I 960 &@& 4% pULSHID aIBEBIT. DiaumHdL W GIDTHS 6VTL
IOV BLL FHATSHD 6l6dT6017

a.b5 g % loss  b.5 g% gain c.6 %% gain  d. None of these

If an article is sold for ¥x, there is a loss of 15%. If the same article is sold
for Yy, there is a profit of 15%. The ratio of (y - x) to (y + x) is

@@ Gurmenen 15% BLLSHHO h X — BE IBESILGIBE. 9I6H CUTHMET
15% eomugged @ y-be oIpdprt aafld (x - y) B (Y + X) BEGW
el Cuiwimert al&HBHLD HT6EwISH.

a.3:20 b.20:3 c. 174428 d.20:23

If selling price is doubled, the profit triples. Find the profit percent.
alBuemet  aleney  @JLUIQUILITEIT6D, 6UTLLD  (LP&IM DL BISTEGLID 616060  6VML
FHASHID HTCWIS.

a. 66 % % b. 100% c. 105% % d.120%

In a certain store, the profit is 320% of the cost. If the cost increases by 25%
but the selling price remains constant, approximately what percentage of
the selling price is the profit?

R  sLUled, OQUTHOeMSNIBG o ewiend  alemeoulledmbamnl 320%  eoTubd
HOLSFBHI. o _ewienld  alemeowimendl  25% o WTHIHLILGHBSH — DLEIT60
alpuemer alemev £IB% allemevuled OHTLTHMEHI 6leled OCHTITUILDTS 615 FHEN60T
FHAHD UTULD HlewL&GLD?

a. 30% b. 70% c. 100% d. 250%

By selling 100 pencils, a shopkeeper gains the selling price of 20 pencils.
His gain percent is

100 Ouedleddenenr  aIB@GHD OUTWE @M &SOLSHTIT 20 GueaFleoseieD
alBuUemeT aflensvemUl UTLILDTS GLIHAIMTT. 6T6lled 6VTL FHAIHLD.

a.12% b. 15% c. 20% d. 25%
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Profit earned by selling an article for ¥ 1060 is 20% more than the loss
incurred by selling the article for ¥ 950. At what price should the article be
sold to earn 20% profit?

@m Gurmenenr ep 1060 &E elBgd QuUTIpd HdLEHGD eomud 96
Qurmemenr e 950 H& aIB@D GUTREH LSS BULH®S ol 20%
P 20% TuHHO alIB QuTIpal SibdH Gummelesr alBumer  alemev
616916017

a. Y980 b. ¥ 1080 c. ¥ 1800 d. None of these

A man purchased a box full of pencils at the rate of 7 for ¥9 and sold all of
them at the rate of 8 for ¥11. In this transaction, he gained ¥10. How many
pencils did the box contain?

@M BUT 6@ ULl (pupeugld o eTenm GueaiFleosemen ¢ 9 M@ 7 616im

alpHHev autmid ah 11 B@F 8 aaiB aipdHHev IBHBTT. EHet cpeold ep 10
eomuoTs  QuEIEADBTT  eaafled obs  Guliguledy  assmen  QuETHeoEe

BHHI [HBSWD?
a. 100 b. 112 c. 114 d.115

A dealer professes to sell his goods at cost price but he uses a false weight

of 950 grams for a kilogram. The gain percent of the dealer is

@ alwrumf SHeiedlLld o 6ilem  CQUTHL SeneT DiHeT 2 6wienld  aleneudHGH
alBad  (PTHSBIT. Lelmed  e@h HlleomalBg ugHed 950 &H.&. 1w BHOWw
CETHSHMIT. sleled DibHdH elwTuriuller 6oTL FHaiFHLD eleitent?

a. 43% b.5% C. 53% d. 191%
19 19 5

A fruit seller professes to sell his fruits at cost price, but still gains 25% on

his outlay. What weight does he substitute for a kilogram?

@®m up olwrumfl  oeuflLpeiien  UpEIGSmeT 2 awiend  alenevdEs  alBS
(ereumAMTT. @HUlaid SeumdE 25% eomud Sl sHBg.  eefled @
SHCeuralBE@ LH60 6666 6TeNL &H6V6EVIEN  LIUIETLIG &S WIHULITT?

a. 800 gm b. 850 gm c. 890 gm d. 900 gm

A merchant professes to lose 4% on a certain tea but he uses a weight
equal to 840 g instead of 1 kg. Find his real loss or gain percent.

@ aelsT o GUiL GxpT elwrumysHHed 4% BULID DL aIHTH
FBIABIT. gpemed SeuT 1 HBeumalBE ugkeors 840 Symb Fowmer eTenL eI
LIWISTURSSHIBBTT. DlurdH 2 _avienowlmer eomll / Bl L FHeisdHmd el 1.

a. 14 %% loss b.14 %%gain c. 16 %% loss d.16 %% gain
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By selling an article, a man makes a profit of 25% of its selling price. His

profit percent is
QM BUT @ GuTmemer alBd@Gh CUTWE, DIH6T alBuemer alameoullell(hHbal
25% eumub QUEIABTT eTelled 6UTLI FHaiHID eTesTenT?

a.16 %% b. 20% c.25% d. 33 % %

If there is a profit of 20% on the cost price of an article, the percentage of
profit calculated on its selling price will be

Q@ Qummeier o ewiend alenevuled(hham SewidHB GuTewsl, 20% eomuld
Sl HHBH. GUITL FHANHHMSD SIS 601 alMLIen6oT aleneul e (HbHS
BT B (HendUlled 6l6iTerT  BHlemLdh@HLD?

a.S%% b.16§% c.20% d.24 %

By selling an article at gof the marked price, there is a loss of 10%. The

profit percent, when the article is sold at the marked price, is

@ Oummefer @mlédsiiul L alemeouled(hbal % DL BISBE alBGL CuTIpg
10% mprLD  gBuGdsal. GBsaiIUCL  elmeouled DIIOUTHmeT  &IMEGLD
QUTIDH! GUIHLD 6OTLI FHAIHLD 616076017

a. 20% b. 30% c. 35% d. 40%

A man sells a book at a profit of 20%. If he had bought it at 20% less and
sold it for ¥ 18 less, he would have gained 25%. The cost price of the book
is

QM BUT @T USHBHMS 20% eomushHed elBamprt. oeut 20% GoBaITs
aummid, 18  @pumul  Gopeans  aIBBIGBHITL  SeuhBE 25%  evmUID
S HH(HHGID. 616eNe0 DIbhDH LHHBHH 6 2 _6wienld allensv 616316017

a. ¥ 60 b.¥ 70 c.¥ 80 d.¥90

A Watch is sold at a profit of 20%. If both the cost price and the selling
price of the watch are decreased by ¥ 100, the profit would be 5% more.
Original cost price of the watch is

R BYSMHMS B QuTpg 20% eumud HedLEHHMSH. DIHET ©_6EwTenlD
alened BBID SIFH6T alBLamer alemwed @gevienLujd 5. 100 Gemmshared 5%
SIFH UTULD FHlMLHHBGHI. 6160160 2 _60IeNOUNE0 UTHRIFIUI @T6N6L 6160160 ?

a. ¥450 b. ¥ 500 c. ¥ 550 d. ¥ 600
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PROFIT & LOSS ASSIGNMENT ANSWER
KEY

5 6 |7 |8 9 10
DADB DB A D|CC
11121314 15 16|17 18|19 20
B/AB B DD|B C|AB
21122123 24 125
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